BEAD GEXZ - BT T 3)

Lf7F7H 18
b X % # A | 5 54

BE 7 o o X 7,012 13,366 7,01 | 6,355

X B 1 K 1,207 2,776 1,378 1,398

£ P # K 548 1,343 674 669

N RO K 1,009 2,528 1,267 1,26

Bl % # K 7,206 | 4,664 7,148 7,516

n B R # X 1,319 3,044 1,491 1,553

it X M # K 1,062 2,381 1,195 1,186

it &8 & 8 K 8,009 18,078 8,600 9,478

B sy M # X 6,679 16,138 8,066 8,072

& : 34,05 74,318 36,830 37,488
LfTETH I H

w K A& B T & it F A ! Uz} 54

BE 7 i X BEEIAT A 4,640 9,207 4,640 4,567
¥ FB H 216 370 208 162

® B E 445 839 419 420

£ L L H 795 1,366 864 502

g R H 311 523 284 239

53 ij ) 605 1,06 596 465

#H X3 7,012 13,366 7,01 | 6,355

AN E 1 X & B 89 202 102 100
N & H 826 1,907 935 q72

=0 1 143 324 165 |59

E K 18 #7 6T |49 343 176 167

#H X3 1,207 2,776 1,378 1,398

k& P # K 7z F 139 338 177 16|
& fF 16 34 15 K

¥ @\ f] 128 391 185 206

& & H 96 207 96 1]

R A& H 105 230 | 29 101

R E H 64 143 72 71

#H K3 548 1,343 674 669

N RO X N H | 74 386 194 192
N R H |49 384 188 196

7 PR HT 31 77 34 43

B R ¥ 486 1,280 655 625

& & 64 162 76 86

7 BT 105 239 | 20 119

#H K3 1,009 2,528 1,267 1,26 |
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BEAD GEXZ - BT T 3)

F7ETA B
w K £ BT T £ it = ¥ A | 5 54
Bl % 2 X Bl K H 638 1,455 706 749
P9 & %7 @ BT | 2 2 0
A 1 HT |74 410 197 213
B R B 730 1,578 770 808
& % 1,010 2,161 1,016 |, 145
Bl % H 105 398 | 54 244
= & 1,962 3,884 1,91 1,973
B | TH 244 419 215 204
8 2 TEH 459 881 443 438
8 3 TEH 516 815 412 403
& 4 TH 767 1,361 688 673
Mt 10 22 12 10
NGB OFE A HT 428 883 435 448
JE £ 787 %7 @ T 15 36 15 21
Ny HT | 47 359 172 187
#H X 7,206 | 4,664 7,148 7,516
R Aot X N | AR E 1,319 3,044 1,49 | 1,553
#H R 3 1,319 3,044 1,491 1,553
b XX R X & ¢ H 74 214 | 14 100
£ P # @ HT 66 152 75 77
A RBE R H] 106 237 117 1 20
£ @\ 60 |39 74 65
it /H  H 75 186 ql 95
N B H 32 81 43 38
& A 66 171 86 85
X 8B 5 16 8 8
B | TH 107 200 115 85
mHyE2TH q9 207 q5 112
mHoE3TH 101 197 96 101
mHE4TH 133 2917 1 40 157
BANE5TH 55 116 56 60
BN E6TH 83 168 85 83
#H X 1,062 2,381 1,195 1,186
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BiEAD (GEKZ - BTT )
F7ETA B
H K % B T % @ # &% & | A = L 54
t®EE®E | EWL I TH 185 396 193 203
EWL 2 TEH 199 443 209 234
EWw 3 TEH 176 394 205 | 89
Bl 4 TEHE 323 804 349 455
EW5TEH 274 593 272 321
EWL 6 TEH 282 656 325 331
EWL7TEH 240 562 278 284
EWL 8 TEH 275 596 295 301
WE I TB 449 905 413 492
WwWE2TBH 129 316 | 54 162
¥ 3ITBH 234 518 268 250
WE L4 TBHE 157 355 | 64 191
WwW¥ES5TBH 244 542 258 284
WwW¥ 6 TBH 273 606 281 325
N T B 27 59 29 30
N2 T H 359 891 444 447
N3 TEH 188 407 211 196
NS 4 T B 59 | 1,162 503 659
F&e& | TH 203 462 220 242
F&2TEH 245 572 270 302
T &3TEH 1 40 312 165 | 47
F&a&4TH 276 665 319 346
T &5TEH 190 432 185 247
BHRE I TH 191 477 232 245
BHRE2TH 214 562 272 290
TRE3ITHE 74 188 86 102
vREL4TH 203 442 204 238
TRESTH 290 735 344 39|
Afx& | TH 165 417 203 214
A& 2TH 167 397 198 199
A& 3TH 373 798 395 403
Afr& 4 TH 673 |,414 656 758
o X E 8,009 18,078 8,600 9,478
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BEAD GEXZ - BT T 3)

Lf7F7H 18
H K % B T 4 # H B, | A = L 54
Ry MK | gEyrl TH 181 782 523 259
o E2TH 179 4217 216 211
By A3 TH 214 470 238 232
Bk BE4TH 287 745 354 391
B4 A5 TH 340 798 371 4217
By 6TH 336 929 460 469
o BET7TH 430 L 568 543
W/ NI TH 293 710 323 387
W/ W2TH 243 574 284 290
W/ W3TH 389 980 467 513
W/ W4TH 312 790 377 413
W/ W5TH 286 738 375 363
wor e | TH 550 1,125 558 567
WworBE2TH 487 1,003 494 509
WwWor a3 T8 367 1,010 506 504
Wwor B 4TH 370 625 320 305
= I I = 277 711 357 354
B3 2TB8 464 1,032 531 501
B3R 3TA8 320 762 382 380
B3¥4TH 336 640 308 332
v B2 | TH | 135 35 100
v B 3 T8 |7 41 19 22
#h K3 6,679 16,138 8,066 8,072
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